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swift

COP Period

Test Request 44

Road Load Equation  

Coast Down Report No.

3456

ULR No :  

Rule No.

BS VI, GSR 889(E) Dt. 16.09.2016, 

Sr. No 31(a), Table of S.O. 1365(E), Dt 

13.12.2004.

GSR 881(E) Dt. 26.11.2019

Vehicle Manufacturer / Importer

M/s. Maruti Suzuki ltd.

Plant : Gurgaon

To carry out Mass Emission Test for COP as per Bharat Stage VI Procedure, CMVR 115 [2(i) & (19)(i)]

 Date : 

TYPE APPROVAL

DD
th

 February YYYY

CONFORMITY OF PRODUCTION

Sample

 Please turn over for DISCLAIMER

4

Page 1 of

Pt : Rh : Pd (%)

UID No.
Catalytic 

Converter   

Fuel Pump

Exhaust 

Muffler

Make

Test Fuel:

Spark plug

(S1, S2, S3, 

S4)

Make Id No.

44 to 44

Odometer reading at  the 

start of test in km

Equivalent Inertia 

(kg)

Unladen weight (kg)

44

Test Sample

Engine Displacement 

(cm3) 

Engine No.Chassis No.

Sample

Id. No.

Injector Make Id No.

CPSI

Prepared By Checked By Approved By

AUTHORISED SIGNATORY

ECU Make Cal Id No.

CVN No.

Total Charge 

(g/Veh)

Id No.

Id No.

Dia * L

Make

Make

Id. No.

M/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.Maruti M/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.Maruti
M/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.MarutiSuzukiltd.swiftM/s.Maruti

M/s. M/s. M6 M/s.


